EARAZROREIERT — 2 N—XBISY —F 2018548 16H (B) 2[@7KR3H

mrj'\/rj-\ DY o >E B2ZAMH 7% —H% ‘ (x42] w ‘ [Emm] - | 4 (@) 1600M &=
[AE4£] 1% :350,000” ~ 23%&:81,000”  33%&:4500M  43%&:32,000MH .~ 57&:17,000 H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N TIPS 144, 22— . — REMR (KR
1 . NEEVE: o4 % 1(4_4)0 2-2-2-2 | 39.5 2 ?&7 e
:TVHA XTI R B:OrJiq Slitie]
S BERRE : =2 = BRFBAE (B&ME
2055 UL JXHAT 4 6 554.0 1.(4;1).6 3-3-3-3 | 39.9 3 (4+767) i(EEi}&lé
L:xovv¥/¥tx B:IUXZINLT— N> T -5
NS LA : -1-1- - HEEE (B
N > PIRYEE: it 6 % 1(.3%.)7 1-1-1-1 | 40.3 4 ;1;2) fnlad
oA Lk—L B:A—2&2>AOv> P zie ]
o pe = HER : 54— — HEEFE (KR)
3lglo|L—TKTT> i 5 ks 1(@44%)7 5-5-4-4 | 39.9 6 (4525) j2iiohd
R:TS59 U84 F BeEIKIRU—L TFREHS
NN KiFIE 144, —-8-8- . — EREAGAE (B%FE)
5 3| wv—x3> it 6 g (11 414/29) 8-8-8-6 | 39.7 9 g? A
L:T7yv3Is—L BYU-—XZTTI THES
o S bR 145, ~10-10- . — FHESF (KR
6laliolBvrm: #H 5 s 1(415)1 10-10-10-9 | 39.4 1 tg? #EEE%?—T
RixFa1=gr—2 B:HO EXa-)L J—HrIr—L
Az : -9-6- - ERE (KR)
707l 7| LA 77— i o4 o (12415/25> 9-9-6-8 | 40.0 7 3036) EEPT;‘;Z
L:O=-IXM2 x4 B:/I70714%)L Jlim  ETE
AP 4 5 | BEEME— 1:45.6 6-6-7-5 |40.6| — 10 | 453 |/NEEEAE (EEFE)
gl1/1| 7>+ R 54.0 (2 E) (+3) | A\HABAEA
RiARTA MR BT R YLy Y KOS
— ERRE 146. —4-4- . — REMR (KR
9 6 Yv=—LLF—4%& 4 4 5@:4_0 1(436)1 3-4-4-6 | 41.4 4 <4+610) %
R:arFaqdy b B:AYYZURILFT fidrabae]
10l7l 8| ®F/xEUTL 4 5 ;v%;*%ﬁ 1:(467).0 7-7-9-10 | 41.7| — 8 (423 ﬁ%gﬁl (KiR)
L:d—IRAqfO— B:OrJEZa4>b LIPS
® 1—F—@EBIERL
1T=7r= 2,4,(5,6),9,1,8,3,7,10
2a=5F= 2,4,5,6,9,1,8,3,7,10
Ja=5= 2,4,5,(6,9),7,1,3,8,10
40—+ — 2,4,5,9,1,(3,6),7,10,8
[ /N
B 4 400M 714K 4-5 300M e E 4-5 1,550 JEE 4-5-9 2,940/
B B 4 1609 2-4 290M B = 4-5 1,170M JEE 4-5-2 5,460
5 130H4 4-9 890M B H 4-5 2,210 4-5-9 11,590
2 1909 2=l 330M
9 250H 5-9 820M

ABICOVWTRDTEEERROODE. TR LIV,



